1. The function  is continuous at all Z except z = 2. If liﬂg(.’c) = & which of the following statements

about g must be true?
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The line ¢ = 2 1s a horizontal asymptote to the graph of 9.
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The line £ = 2 is a vertical asymptote to the graph of 9.
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@ The line ¥ = 2 is a vertical asymptote to the graph of 9.
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2. The function g is defined by g(z) = (m) In (w

z—5 31322 ) . At what values of & does the graph of ¢

have a vertical asymptote? \{
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5 The values f (&) of a function f can be made arbitrarily large by taking Z sufficiently close to 1 but not

equal to 1. Which of the following statements must be true? - -
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@ £ (1) does not exist. X

fis continuous at z = 1. x'
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1. Let f be the function given by f (z) = =5

. What are all horizontal asymptotes to the graph of f ?
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@ The graph of f has no horizontal asymptotes. l _J_
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3. Let f be the function defined by f(z) = ST T

for z > 0. Which of the following is a horizontal

asymptote to the graph of f ?
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@ There is no horizontal asymptote to the graph of f.
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4. Let f be the function given by f (=) = 1-::;::111
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@ The graph of f has no horizontal asymptotes. j

. What are all horizontal asymptotes of the graph of f ?




